Virginia High School League

Scholastic Bowl, 2001-02 season

Regional  Competition, Match #4

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the Regional level. Shawn Pickrell and Adam Fine are the authors of these questions.

Regions must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the Region competition or the schools that are members of the given Region before all Region champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all Region champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.  
After avenging his mother against his father, he becomes the leader of the Ojibwa people and marries Minnehaha.  Who is this hero of a narrative poem by Henry Wadsworth Longfellow?

ANSWER:  HIAWATHA
2.  
Andres Segovia in classical music and Robert Johnson in the blues were both virtuoso masters of which six-stringed instrument later conquered by Jimi Hendrix?

ANSWER:  GUITAR
3.
What adjective is used to describe a depression or psychosis exhibited after giving birth?

ANSWER: POSTPARTUM
4.
What is the mathematical curve that resembles a heart?

ANSWER: CARDIOID
5.  
It causes a continuous flow of water upward from the roots through the xylem and out the leaf surfaces.  By what process does a plant lose water due to evaporation?

ANSWER:  TRANSPIRATION
6.  
Its splits easily into thin slabs along its cleavage planes, and was once used for building sills and roofs.  What gray, metamorphic rock can still be used for writing on with chalk, and may have once been mined by Fred Flintstone’s boss?

ANSWER:  SLATE
7.
What general was the victor over the Romans at the battle of Cannae?

ANSWER: HANNIBAL

8.
THIS IS A COMPUTATION QUESTION.  It takes 5 1/2 hours to fly from Richmond to San Francisco.  If Mark Warner wants to reach San Francisco by 11:45 AM Pacific time in order to be on time for the Democratic National Convention, by when should his plane take off from Richmond?

ANSWER:  9:15 AM (Richmond is three hours ahead of San Francisco)   

9.
The Anne of Green Gables series of novels is set in what small Canadian province?

ANSWER: PRINCE EDWARD ISLAND or PEI
10.  
Russian authorities forbade the performance of this 1899 tone poem, so that it had to be performed under other names.  What nationalist work established Jean Sibelius as the quintessentially Finnish composer?

ANSWER:  “FINLANDIA”
11.
His step-father is former Redskin running back Otis Wonsley, and he earned the Powerade “Mr. Basketball” award for best Washington D.C. area player while at Good Counsel High School.  Who is this junior star shooting guard at the University of Virginia, the Cavaliers’ leading scorer?

ANSWER:  Roger MASON Jr.

12.
Under the name Publius, Alexander Hamilton, James Madison and John Jay were the authors of what series of essays written in support of the Constitution?

ANSWER: FEDERALIST PAPERS
13.
THIS IS A COMPUTATION QUESTION. Take an equilateral triangle. If the length of its altitude is x, what is the length of its sides, in simplest radical form?

ANSWER: (2x * sqrt(3)) / 3
14.
It has a small opening at the top and a stopcock, which can be adjusted, at the bottom. What is this piece of lab equipment that can dispense liquid quickly, slowly or not at all, depending on how the stopcock is turned?

ANSWER: BURET
15.
What five-letter word can mean the following things: the series of poems or epics about a particular hero, getting four different types of hits in a baseball game, to move in a circle around something, or a periodically repeated sequence of events?

ANSWER: CYCLE
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.
1A.
THIS IS A COMPUTATION QUESTION. What is the area of a square whose diagonals are 3 each?

ANSWER: 9/2
1B. 
What poem by Keats contains the line “Thou wast not born for death, immortal Bird!”?

ANSWER: ODE TO A NIGHTINGALE

2A.
What name is given to the dust and gas surrounding an active comet’s nucleus?

ANSWER: COMA
2B.  
Using angular forms and emotion, German artist Ernst Kirchner (KEERK-ner) founded what expressionist art movement in Dresden in 1905, whose name is German for “the bridge?”

ANSWER:  DIE BRUCKE (dee BROOK-uh)

3A.
What six-letter word can mean to entertain or nourish, as in with a grudge, to keep, as in with a fugitive, or a place of safety, as for ships?

ANSWER: HARBOR
3B.
In 1983, over 200 Marines were killed by a suicide bomber while attempting to maintain the peace in what Middle Eastern country?

ANSWER: LEBANON
4A.  
In photography, what measure of the relative aperture of a camera lens indicates that lens’s light-gathering power?

ANSWER:  F-STOP
4B.
Which quadrant is the only one not touched by the parabola y = -x² + 7x – 10 (y equals negative x squared plus 7x minus 20)?

ANSWER:  II (one)

5A.
The battle of Bosworth Field in 1485 marked the end of the War of the Roses and was where what King of England was killed, supposedly uttering, “My kingdom for a horse”?

ANSWER: RICHARD III
5B.
1.013 bars is equal to what unit of pressure, which is based on a measurement taken at sea level?

ANSWER: ATMOSPHERE
6A.
The number e has its name due to the first letter of what famous mathematician’s last name?

ANSWER: Leonhard EULER
6B.  
Which American writer, inspired by the antislavery cause and the Civil War, wrote the poem “Barbara Fritchie?”

ANSWER:  John Greenleaf WHITTIER
7A.  
What alkaline secretion in mammals, containing the enzyme amylase, helps in the swallowing and digesting of food in the mouth?

ANSWER:  SALIVA
7B.
Who is the first person to be indicted in the US for knowingly aiding the September 11 attacks?

ANSWER: Zacarias MOUSSAOUI (moo-SOW-wee)

8A.
How many pronouns are in this sentence? Who said he knew this would be fun?

ANSWER: THREE (Who, he, this)

8B.
What is the largest city or town in the state of Virginia?

ANSWER: VIRGINIA BEACH
9A.
In January, the US Supreme Court turned down an appeal from what man who was convicted for his role in the Oklahoma City bombing of 1995?

ANSWER: Terry NICHOLS
9B.
THIS IS A COMPUTATION QUESTION. What is the sum of the lengths of the diagonals of a rectangle with sides of 3 and 5?

ANSWER: 2 sqrt(34)
10A.
In late 1848, gold was discovered in California at what location named for its owner?

ANSWER: SUTTER’S MILL
10B.
What name is given to a solution of definite pH that alters only gradually when an acid or base is added?

ANSWER: BUFFER
Third period: 15 tossups
1.
What type of fatty acid is missing one pair of hydrogen atoms in the middle of the molecule, and is differentiated in its name from fatty acids that are missing more than one pair of hydrogen atoms?

ANSWER: MONOUNSATURATED (prompt on unsaturated, do not accept polyunsaturated)

2.
THIS IS A COMPUTATION QUESTION. What is the tangent of 30 degrees?

ANSWER: sqrt(3) / 3 (or 1 / sqrt(3))

3.
Can you name any year in Queen Elizabeth I’s reign?

ANSWER: 1558 to 1603
4.  
The festival Eid ul-Fitr celebrates the end of what holy month of fasting for Muslims?

ANSWER:  RAMADAN
5.  
Always the Young Strangers is the 1953 autobiography of what free verse poet, whose collections include Smoke and Steel, The People, Yes, and Chicago Poems?

ANSWER:  Carl SANDBURG 

6.  
From the Greek for “nowhere,” what name is given to those who wish to build an ideal social and political society, examples including Plato and Robert Owen?

ANSWER:  UTOPIANS
7.  
In which poem, a two thousand line work found in the Walt Whitman collection “Leaves of Grass,” does the narrator sound his “barbaric yawp?”

ANSWER:  “SONG OF MYSELF”
8.
THIS IS A COMPUTATION QUESTION.  A library shelf contains two novels by Dickens, three by Steinbeck, and four by Hemingway.  What is the probability that a blindfolded person would randomly pick both Dickens novels?

ANSWER:  1/36 (one in thirty-six)

9.
In 1967, Constantine II was overthrown and a military dictatorship was installed in what country?

ANSWER: GREECE
10.  
It is an annual with scientific name Ambrosia artemisifolia, and has long, spiky, yellow-green flowers, but what plant is best known for its generation of wind pollen, wreaking havoc on allergy sufferers during mid-summer?

ANSWER:  RAGWEED
11.
In Twenty Thousand Leagues Under the Sea, who was the captain of the Nautilus?

ANSWER: NEMO
12.  
One can make it by heating limestone with clay, producing a powdery gray mixture of calcium and aluminum silicates.  What binding material is used in buildings and is carried in mixers? 

ANSWER:  CEMENT
13.
When configuring hardware for Windows, one of the values that must be configured is the IRQ. What does IRQ stand for?

ANSWER: INTERRUPT REQUEST
14.
Who won the Battle of Manila Bay in 1898, destroying the entire Spanish Pacific fleet at the cost of one wounded sailor?

ANSWER: Admiral George DEWEY
15.  
Itzamna was the benefactor for the humans, while his father Hunab-ku was the supreme Sun god of which Native American civilization that flourished in the Yucatan between 300 and 900?

ANSWER:  MAYAS
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.
1.
THIS IS A COMPUTATION QUESTION.  What is the determinant of the 2 by 2 matrix with top row of -4 and 6 and bottom row of 3 and -5?

ANSWER:  2
2.
What term applies to a trial that ends without a verdict due either to a hung jury or a mistake that jeopardizes the right of either party to a fair trial?

ANSWSER: MISTRIAL
3.
Raised in a rich suburban environment, she left her orthodontist fiancé Barry at the altar, and then she had to make her own living as a waitress at the Central Perk.  Who is this character on “Friends,” now linked with Joey and portrayed by Jennifer Aniston Pitt?

ANSWER:  RACHEL Green

4.
Who was the barmaid Don Quixote elevated to the status of beloved, for whom he performed his quests?

ANSWER: DULCINEA del Toboso

5.  
It is usually composed of three parts:  the sheath, the petiole, and the lamina.  Made up of mesophyll cells and often a cuticle, what outgrowth of a plant stem is the primary area of photosynthesis, and if deciduous falls off during autumn?

ANSWER:  LEAF
All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.


